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Learn meaning, write synonym and make a sentence of each given word.
 gardening
 limited
 benefiting

Underline the relative pronoun to the sentences below.

1. Tom who works with me is very hardworking. 

2. The shop which sells my favourite glasses is closed.

3. Tim, who lives with his mum, has helped me a lot.

4. They found the lady whom they want to interview.

5. Whose is that dictionary? 

6. The theme park where we went was excellent. 

7. The house that Ben built is as big as a castle.

1. 440 x 10 = 4400

2. 10 ² = 100

3. 55.01 divided by 5 = 11.002

4. 1

2
+

5

8
=  

5. 7.08 x 10 = 70.8

1. A rectangle has height 2.4 cm. If the perimeter of the rectangle 
is 12 cm ², what is the width of the rectangle. 

2. Jim wants to share his chocolates box with Miya and Ali. He 
has 423 chocolates in his box. 
How many will Jim, Miya and Ali get if they share equally?

3. Tick the two numbers that are equivalent to 
𝟑

𝟒


𝟖𝟒

𝟏𝟔𝟎


𝟏𝟒𝟒

𝟏𝟗𝟐

 0.25

 0.75

141 chocolates

The width of the rectangle is 5 cm.


